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Fluid Mechanics

1. Two liquids of densities 
1
 and 

2
(

2
 = 2

1
) are filled up behind a square wall of side 10m as shown in figure.

Each liquid has a height of 5m. The ratio of the force due to these liquids exerted on upper part MN to that at

the lower part NO is (Assume that the liquids are not mixing) : 

fHkUUk ?kUkRoksa 
1
 rFkk 

2
(

2
 = 2

1
) ds nks nzo 10m YkEckbZ dh ,d oxkZdkj nhokj ds ihNs Hkjs gq;s gSa (fp=k ns[ksa) A izR;sd nzo

dh Å¡pkbZ 5m gSA rc bu nzoksa }kjk nhokj ds Åijh Hkkx MN rFkk fupYks Hkkx NO ij yxUks okYks cYkksa dk vuqikr gksxk (;g

ekUksa fd ;s nzo fefJr ugha gksrs gS) : 

M

O

N

5 m

5 m

(1) 2/3 (2) 1/2 (3) 1/4 (4) 1/3

A. 3

Question ID : 4050361699

Option 1 ID : 4050366151 Option 2 ID : 4050366152 Option 3 ID : 4050366154 Option 4 ID : 4050366153

Sol.

Geometrical Optics

2. An object is gradually moving away from the focal point of a concave mirror along the axis of the mirror. The

graphical representation of the magnitude of linear magnification (m) versus distance of the object from the

mirror (x) is correctly given by (Graphs are drawn schematically and are not to scale)

,d oLrq ,d vorYk niZ.k ds lkeUks blds v{k ij pYkrs gq;s blds Qksdl ls /khjs&/khjs nwj tk jgh gSA ,slh voLFkk esa fUkEUk esa

ls dkSUk lk xzkQ bl oLrq ds js[kh; vko/kZUk (m) ds ekUk dk lEcU/k blds niZ.k ls nwjh (x) ds lkFk n'kkZrk gSA

(xzkQ ladsrkRed gS)
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A. 2

Question ID : 4050361709

Option 1 ID : 4050366192

Option 2 ID : 4050366193

Option 3 ID : 4050366191

Option 4 ID : 4050366194

Sol.

Magnetic Field & Force

3. A very long wire ABDMNDC is shown in figure carrying current I. AB and BC parts are straight, long and at

right angle. At D wire forms a circular turn DMND of radius R. AB, BC parts are tangential to circular turn at

N and D. Magnetic field at the centre of circle is :

,d YkEck rkj ABDMNDC fp=k esa fn[kk;k x;k gS vkSj blesa fo|qr /kkjk I cg jgh gSA bl rkj ds AB rFkk BC Hkkx lh/ks gS

vkSj ,d nwljs ls ledks.k cUkkrs gSA D ij rkj ?kwers gq;s R f=kT;k dk ,d o`Rr DMND cUkkrk gS rFkk rkj ds AB vkSj BC Hkkx

bl o`Rr ij Øe'k% N rFkk D ij Li'kZ js[kk;sa cUkkrs gSA bl n'kk esa o`Rr ds dsUnz ij pqEcdh; {ks=k dk ekUk gS &

N

M

B D C

A

(1) 
0
I 1

2 R 2

  
    

(2) 
0
I 1

2 R 2

  
    

(3)  0
I

1
2 R





(4) 

0
I

2R



A. 1

Question ID : 4050361705

Option 1 ID : 4050366175

Option 2 ID : 4050366176

Option 3 ID : 4050366178

Option 4 ID : 4050366177

Sol.

Errors & Significant Digits
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4. A simple pendulum is being used to determine the value of gravitational acceleration g at a certain place. The

length of the pendulum is 25.0 cm and a stop watch with 1s resolution measures the time taken for 40 oscillations

to be 50 s. The accuracy in g is :

,d lk/kkj.k YkksYkd dk iz;ksx fdlh LFkkUk ij xq:Rokd"kZ.k ds dkj.k Roj.k g dk ekUk Kkr djus ds fy;s fd;k tkrk gSA ;fn

YkksYkd dh YkEckbZ 25.0 cm gks vkSj blds 40 nksYkUkksa ds fy, ,d 1s fo;kstUk (resolution) okYkh LVkWiokp ls Ukkik x;k le;

50s gks rks g ds ekUk dh ifj'kq}rk gksxh &

(1) 3.40% (2) 4.40% (3) 5.40% (4) 2.40%

A. 2

Question ID : 4050361694

Option 1 ID : 4050366131

Option 2 ID : 4050366133

Option 3 ID : 4050366134

Option 4 ID : 4050366132

Sol.

Capacitance

5. A capacitor is made of two square plates each of side 'a' making a very small angle  between them, as shown

in figure. The capacitance will be close to :

,d la/kkfj=k nks oxkZdkj IYksVksa (vkdkj a × a) ls cUkk gSA IYksVksa ds chp ,d cgqr NksVk dks.k  gS tSlk fd fp=k esa fn[kkx;k x;k

gSA bl la/kkfj=k dh fo|qr /kkfjrk fuEUk esa ls fdlds fudVre gksxh &



a V2

V1

d

(1) 

2

0
a a

1
d d

  
 

 
(2) 

2

0
a 3 a

1
d 2d

  
 

 
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(3) 

2

0
a a

1
d 4d

  
 

 
(4) 

2

0
a a

1
d 2d

  
 

 

A. 4

Question ID : 4050361704

Option 1 ID : 4050366173

Option 2 ID : 4050366171

Option 3 ID : 4050366174

Option 4 ID : 4050366172

Sol.

Waves on String

6. A transverse wave travels on a taut steel wire with a velocity of v when tension in it is 2.06×104 N. When the

tension is changed to T, the velocity changed to v/2. The value of T is close to :

tc ,d rUks gq, LVhYk ds rkj esa rUkko 2.06×104 N gks rks bl ij pYkUks okYkh ,d vuqizLFk rjax dh xfr v gSA ;fn rUkko dk

ekUk cnYkdj T dj fn;k tk;s rks rjax dh xfr cnYkdj v/2 gks tkrh gSA T dk ekUk fuEUk esa ls fdlds fudVre gS \

(1) 2.50×104 N (2) 30.5×104 N (3) 5.15×103 N (4) 10.2×102 N

A. 3

Question ID : 4050361702

Option 1 ID : 4050366163

Option 2 ID : 4050366165

Option 3 ID : 4050366164

Option 4 ID : 4050366166

Sol.

Electromagnetic Induction

7. As shown in the figure, a battery of emf  is connected to an inductor L and resistance R in series. The switch

is closed at t = 0. The total charge that flows from the battery, between t = 0 and t = t
c
 (t

c
 is the time constant

of the circuit) is :

fp=kkuqlkj fo|qr&okgd cYk  dh ,d cSVjh dks Øec} Js.kh esa tksM+dj Ykxs gq;s izsjd L rFkk izfrjks/k R ls tksM+k x;k gSA ;fn

fLop dks le; t = 0 ij cUn dj fn;k tk;s rks t = 0 rFkk t = t
c
 (t

c
 ifjiFk dk le; fLFkjkad gS) ds chp cSVjh ls cgUks okYks

vkos'k dk ekUk gS &
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

A. 3

Question ID : 4050361707

Option 1 ID : 4050366186

Option 2 ID : 4050366185

Option 3 ID : 4050366183

Option 4 ID : 4050366184

Sol.

KTG & Thermodynamics

8. A carnot engine having an efficiency of 
1

10
 is being used as a refrigerator. If the work done on the refrigerator

is 10J, the amount of heat absorbed from the reservoir at lower temperature is :

,d dkUkksZ bUtUk dh n{krk (efficiency) 
1

10
 gS vkSj bls ,d jsfQztjsVj ds :i esa iz;ksx esa Ykk;k tk jgk gSA ;fn jsfQztjsVj ij

fd;k tkus okYkk dk;Z 10J gks rks fuEUkrki okYks rkidq.M ls vo'kksf"kr dh tkUks okYkh Å"ek dk ekUk gS &

(1) 99J (2) 100J (3) 90J (4) 1J

A. 3

Question ID : 4050361700

Option 1 ID : 4050366156

Option 2 ID : 4050366155

Option 3 ID : 4050366157

Option 4 ID : 4050366158

Sol.
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Electromagnetic Waves

9. A plane electromagnetic wave of frequency 25 GHz is propagating in vacuum along the z-direction. At a

perticular point in space and time, the magnetic field is given by 8 ˆB 5 10 jT 


. The corresponding electric

field E


 is (speed of light c = 3×108 ms–1)

25 GHz vkòfRr dh ,d lerYk fo|qr&pqECdh; rjax fuokZr esa z-fn'kk esa pYk jgh gSA ;fn fdlh ,d le; ij ,d LFkkUk ij

rjax dk pqEcdh; {ks=k 8 ˆB 5 10 jT 


gks rks ogka ij ml le; fo|qr {ks=k E


 gksxk (izdk'k dh xfr c = 3×108 ms–1)

(1) 1.66×10–16 î  V/m (2) 16 ˆ1.66 10 i V / m 

(3) ˆ15i V / m (4) ˆ15i V / m

A. 4

Question ID : 4050361708

Option 1 ID : 4050366189

Option 2 ID : 4050366190

Option 3 ID : 4050366188

Option 4 ID : 4050366187

Sol.

Electrostatics

10. A particle of mass m and charge q is released from rest in a uniform electric field. If there is no other force on

the particle, the dependence of its speed v on the distance x travelled by it is correctly given by (graphs are

schematic and not drawn to scale)

m nzO;ekUk ds ,d vkosf'kr d.k] ftl ij vkos'k q gS] dks ,dlekUk fo|qr {ks=k esa fLFkj voLFkk ls NksM+k tkrk gSA ;fn bl ij

dksbZ vkSj cYk u yx jgk gks rks bldh xfr v rFkk blds }kjk pyh x;h nwjh x esa lEcU?k fUkEUk esa ls fdl xzkQ }kjk iznf'kZr fd;k

tkrk gS \ (xzkQ ladsrkRed gS)

(1) 
v

x

(2) 
v

x

(3) 
v

x

(4) 
v

x

A. 3

Question ID : 4050361706

Option 1 ID : 4050366180

Option 2 ID : 4050366179

Option 3 ID : 4050366181
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Option 4 ID : 4050366182

Sol.

Electrostatics

11. Consider two charged metallic spheres S
1
 and S

2
 of radii R

1
 and R

2
, respectively. The electric fields E

1
 (on S

1
)

and E
2
 (on S

2
) on their surfaces are such that E

1
/E

2
 = R

1
/R

2
. Then the ratio V

1
 (on S

1
)/V

2
 (on S

2
) of the

electrostatic potentials on each sphere is :

/kkrqvksa ls cUks gq;s nks xksYks S
1
 rFkk S

2
 ftudh f=kT;k,¡ Øe'k% R

1
 rFkk R

2
 gS vkosf'kr gSA ;fn budh lrg ij fo|qr {ks=k E

1
 (S

1

ij)  rFkk E
2
 (S

2 
ij) ,sls gS fd E

1
/E

2
 = R

1
/R

2
 rks bu ij fLFkj oS|qr oksYVrk V

1
 (S

1 
ij) rFkk V

2
 (S

2 
ij) dk vuqikr V

1
/

V
2
 gksxk &

(1) (R
1
/R

2
)2 (2) R

1
/R

2
(3) 

3

1

2

R

R

 
 
 

(4) 
2

1

R

R

 
 
 

A. 1

Question ID : 4050361703

Option 1 ID : 4050366168

Option 2 ID : 4050366167

Option 3 ID : 4050366169

Option 4 ID : 4050366170

Sol.

Kinematics

12. A particle moves such that its position vector   ˆ ˆr t cos( t) i sin( t) j   


 where  is a constant and t is time.

Then which of the following statement is true for the velocity v
 (t) acceleration a

 (t) of the particle :

,d pYkk;ekUk d.k dh le; t ij fLFkfr   ˆ ˆr t cos( t) i sin( t) j   


 lfn'k }kjk nh tkrh gSA ;gka ij  ,d fLFkjkad gSA

,sls esa d.k ds osx v
 (t) rFkk blds Roj.k a

 (t) ds fy, fUkEUk esa ls dkSUk lk dFkUk lR; gS &

(1) v
  and a

  both are perpendicular to r


(2) v
  is perpendicular to r

  and a
  is directed towards the origin

(3) v
  and a

  both are parallel to r


(4) v
  is perpendicular to r

  and a
  is directed away from the origin

(1) v
  vkSj a

  nksUkksa gh r
ds YkEcor~ gSA

(2) v
  YkEcor~ gS r

  ds rFkk a
  dh fn'kk ewYk fcUnq dh vksj gSA

(3) v
  rFkk a

  nksUkksa gh r
  ds lekUkkUrj gSA
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(4) v
  YkEcor~ gS r

  ds rFkk a
  dh fn'kk ewYk fcUnq ls nwj tkrh gqbZ gSA

A. 2

Question ID : 4050361695

Option 1 ID : 4050366136

Option 2 ID : 4050366137

Option 3 ID : 4050366135

Option 4 ID : 4050366138

Sol.

KTG & Thermodynamics

13. Consider a mixture of  n moles of helium gas and 2n moles of oxygen gas (molecules taken to be rigid) as an

ideal gas. Its C
p
/C

V
 value will be :

ghfYk;e xSl ds n eksYl vkSj vkWDlhtUk xSl (blds v.kqvksa dks n`< ekUksa) ds 2n eksYl dh feJ.k dks vkn'kZ xSl ekUska rks bl feJ.k

ds fy, C
p
/C

V
 dk ekUk gksxk &

(1) 19/13 (2) 40/24 (3) 23/15 (4) 67/45

A. 1

Question ID : 4050361701

Option 1 ID : 4050366161

Option 2 ID : 4050366162

Option 3 ID : 4050366160

Option 4 ID : 4050366159

Sol.

Rotation

14. A uniform sphere of mass 500 g rolls without slipping on a plane horizontal surface with its centre moving at a

speed of 5.00 cm/s. Its kinetic energy is :

500 g nzO;ekUk dk ,d ,dlekUk xksYkk fcUkk fQlYks gq, ,d {kSfrt lery lrg ij yq<drk gqvk py jgk gS (rolls without

slipping) rFkk blds nzO;ekUk dsUnz dh xfr 5.00 cm/s–1 gSA xksYks dh xfrt ÅtkZ gS &

(1) 8.75×10–3 J (2) 8.75×10–4 J

(3) 6.25×10–4 J (4) 1.13×10–3 J

A. 2
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Question ID : 4050361698

Option 1 ID : 4050366150

Option 2 ID : 4050366149

Option 3 ID : 4050366147

Option 4 ID : 4050366148

Sol.

COM, Momentum & Collision

15. A particle of mass m is dropped from a height h above the ground. At the same time another particle of the

same mass is thrown vertically upwards from the ground with a speed of 2gh . If they collide head-on

completely inelastically, the time taken for the combined mass to reach the ground, in units of 
h

g
 is :

m nzO;ekUk ds ,d d.k dks /kjkrYk ls h Å¡pkbZ ls NksM+k tkrk gSA mlh le; ij lekUk nzO;ekUk ds ,d d.k dks /kjkrYk ls Å/okZ/

kj fn'kk esa Åij dh vksj 2gh  xfr ls iz{ksfir djk tkrk gSA ;fn ;s nks d.k vkeUks&lkeUks (head-on) iw.kZr% vizR;kLFk :i

ls Vdjkrs gks rks tqMs+ gq;s d.kksa dks 
h

g
 dh bdkbZ ekUkrs gq, /kjkrYk rd igqapUks esa yxUks okYkk le; gksxk &

(1) 
3

4
(2) 

1

2
(3) 

1

2
(4) 

3

2

A. 4

Question ID : 4050361696

Option 1 ID : 4050366141

Option 2 ID : 4050366139

Option 3 ID : 4050366142

Option 4 ID : 4050366140

Sol.

Semiconductors

16. In the given circuit, value of Y is :

fn;s x;s ifjiFk esa Y dk ekUk gS &
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1

0

Y

(1) Will not execute (2) toggles between 0 and 1

(3) 1 (4) 0

(1) ifjiFk dk;kZfUor ugha gksxk (2) 0 rFkk 1 ds chp esa ?kVrk&c<+rk

(3) 1 (4) 0

A. 4

Question ID : 4050361712

Option 1 ID : 4050366206

Option 2 ID : 4050366205

Option 3 ID : 4050366204

Option 4 ID : 4050366203

Sol.

Dual Nature of Radiation & Matter

17. An electron (mass m) with initial velocity 
0 0
ˆ ˆv v i v j 


 is in an electric field 

0
ˆE E k 


. If 

0
 is initial de-Broglie

wavelength of electron, its de-Broglie wave length at time t is given by :

,d bysDVªkWUk (nzO;ekUk m) dk izkjafHkd osx 
0 0
ˆ ˆv v i v j 


 gS rFkk ;g ,d fo|qr {ks=k 

0
ˆE E k 


 esa gSA ;fn bysDVªkWUk dh

Mh&czksXYkh rjax dk izkjafHkd rjaxnS/;Z 
0
 gks rks t le; ds i'Pkkr~ bldk rjaxnS/;Z gksxk &

(1) 

0

2 2 2

2 2

0

e E t
2

m v



 (2) 

0

2 2 2

0

2 2

0

e E t
1

m v





(3) 

0

2 2 2

2 2

0

e E t
1

2m v



 (4) 

0

2 2 2

2 2

0

2

e E t
1

m v





A. 3

Question ID : 4050361711

Option 1 ID : 4050366201

Option 2 ID : 4050366199

Option 3 ID : 4050366200
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Option 4 ID : 4050366202

Sol.

Wave Optics

18. In a double-slit experiment, at a certain point on the screen the path difference between the two interfering

waves is 
1

8
th of a wavelength. The ratio of the intensity of light at that point to that at the centre of a bright fringe

is :

,d f}&f>jhZ iz;ksx esa insZ ij ,d LFkkUk ij nks O;frdj.k djus okYkh rjaxksa dk iFkkUrj muds rjaxnS/;Z dk 
1

8
gSA rc bl LFkkUk

ij izdk'k dh rhozrk dk ,d pedhyh fQzat ds chp esa izdk'k dh rhozrk ls vuqikr gksxk &

(1) 0.568 (2) 0.672 (3) 0.760 (4) 0.853

A. 4

Question ID : 4050361710

Option 1 ID : 4050366198

Option 2 ID : 4050366197

Option 3 ID : 4050366196

Option 4 ID : 4050366195

Sol.

COM, Momentum & Collision

19. As shown in figure when a spherical cavity (centred at O) of radius 1 is cut out of a uniform sphere of radius R

(centred at C), the centre of mass of remaining (shaded) part of sphere is at G, i.e. on the surface of the cavity.

R can be determined by the equation :

fn[kk;s x;s fp=kkuqlkj tc R f=kT;k ds ,d ,dlekUk xksYks esa (xksYks dk dsUnz C ij gS) 1 f=kT;k dh ,d xqfgdk (Cavity) cUkkbZ

tkrh gSA (xqfgdk dk dsUnz O ij gS) rks cps gq;s fgLLks (Nk;kfnr) dk nzO;ekUk dsUnz G fcUnq (tks fd xqfgdk dh lrg ij gS) gSA

,sls esa R dk ekUk fuEUk esa ls dkSUk lh lehdj.k }kjk Kkr fd;k tk ldrk gS \

R

1

G C O

(1) (R2 – R + 1) (2 – R) = 1 (2) (R2 + R + 1) (2 – R) = 1

(3) (R2 – R – 1) (2 – R) = 1 (4) (R2 + R – 1) (2 – R) = 1

A. 2

Question ID : 4050361697
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Option 1 ID : 4050366144

Option 2 ID : 4050366145

Option 3 ID : 4050366146

Option 4 ID : 4050366143

Sol.

Current Electricity

20. A galvanometer having a coil resistance 100  gives a full scale deflection when a current of 1 mA is passed

through it. What is the value of the resistance which can convert this galvanometer into a voltmeter giving full

scale deflection for a potential difference of 10 V ?

,d xSYosUkksekih dh dqaMYkh dk izfrjks/k 100  gS rFkk blesa ls 1 mA fo|qr /kkjk cgUks ij ;g iwjh rjg ls fo{ksfir gks tkrk gSA

;fn bls ,d ,sls oksYVekih esa cnYkUkk gks tks 10 V foHkokUrj YkxkUks ij iwjk fo{ksfir gks tk;s rks bl ij Ykxk;s tkUks okYks izfrjk/

k dk ekUk gksxk ?

(1) 8.9 k (2) 7.9 k (3) 10 k (4) 9.9 k

A. 4

Question ID : 4050361713

Option 1 ID : 4050366207

Option 2 ID : 4050366209

Option 3 ID : 4050366210

Option 4 ID : 4050366208

Sol.

Atomic Structure

21. The first member of the Balmer series of hydrogen atom has a wavelength of 6561 Å. The wavelength of the

second member of the Balmer series (in nm) is __________ .

gkbMªkstUk ijek.kq dh ckej Jà[kYkk ds igYks ?kVdk dk rjaxnZ/;Z 6561 Å gSA rc ckej Jà[kYkk ds nwljs ?kVdk dk rjaxnS/;Z nm

esa gksxk &

A. 486

Question ID : 4050361718

Sol.

Calorimetry

22. Three containers C
1
, C

2
 and C

3
 have water at different temperatures. The table below shows the final temperature

T when different amounts of water (given in liters) different amounts of water (given in liters) are taken from

each container and mixed (assume no loss of heat during the process)
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C
1
, C

2
 rFkk C

3
 rhu ik=k (containers) gS ftuesa fHkUUk & fHkUUk rkiekUkksa ij ikUkh j[kk gqvk gSA tc bu ik=kksa ls vYkx&vYkx

ek=kkvksa esa ikUkh Yksdj feYkk;k tkrk gS rks bl feJ.k dk vfUre rkiekUk T gks tkrk gS ik=kksa ls fy;s x;s ikUkh dh ek=kk (YkhVj

esa) vkSj rkiekUk T dk ekUk uhps rkfYkdk esa fn;k gqvk gSA (;g ekUksa fd fefJr djus dh izfØ;k eas Å"ek dk {k; ugha gqvk gS)

1 2 3C C C T

l 2 60º C

1 2 30º C

2 1 60º C

1 1 1









 

 

 

  

The value of  (in °C to the nearest integer)

 ds ekUk (°C esa) ds fudVre iw.kkZad gS  ________

A. 50

Question ID : 4050361716

Sol.

Kinematics

23. A ball is dropped from the top of a 100 m high tower on a planet. In the last 
1

2
s before hitting the ground, it

covers a distance of 19 m. Acceleration due to gravity (in ms–2) near the surface on that planet is ________ .

,d xzg ij 100 m Å¡ps ,d LrEHk ds Åij ls ,d xsan dks NksM+k tkrk gSA /kjkrYk ij VdjkUks ls igYks ds 
1

2
s esa ;g xsan 19 m

dh nwjh r; djrh gSA bl xzg ij xq:Rokd"kZ.k ds dkj.k Roj.k dk ekUk (ms–2 esa) gS __________A

A. 8, 2888

Question ID : 4050361714

Sol.

Current Electricity

24. The series combination of two batteries, both of the same emf 10V, but different internal resistance of 20 

and 5 , is connected to the parallel combination of two resistors 30 and R. The voltage difference across

the battery of internal resistance 20 is zero, the value of R (in ) is _______ .

Øec} Js.kh esa tksM+h gqbZ nks cSVfj;ksa dks ik'oZ lEca/kUk (parallel connection) esa tqMs+ nks izfrjks/kd rkjksa ls tksM+k x;k gSA nksUkksa

cSVfj;ksa dk fo|qr okgd cYk 10V gS ij mudh vkUrfjd izfrjks/kdrk 20  rFkk 5  gSA rkjksa ds izfrjks/k 30 rFkk R gSA

,slh n'kk eas ;fn 20 vkUrfjd izfrjks/k okYkh cSVjh ds VfeZUkYkksa dk foHkokUrj 'kwU; gks rks R (esa) dk ekUk _______ gSA

A. 30

Question ID : 4050361717

Sol.
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Gravitation

25. An asteroid is moving directly towards the centre of the earth. When at a distance of 10 R (R is the radius of

the earth) from the earths centre, it has a speed of 12 km/s. Neglecting the effect of earths atmosphere, what

will be the speed of the asteroid when it hits the surface of the earth (escape velocity from the earth is 11.2 km/

s) ? Give your answer to the nearest integer in kilometer/s ___________ .

,d {kqnzxzg (asteroid) i`Foh ds dsUnz ls 10 R (R i`Foh dh f=kT;k gS) nwjh ij gS vkSj iF̀oh ds dsUnz dh vksj 12 km/s xfr ls vk

jgk gSA ;fn i`Foh ls iYkk;Uk xfr dk ekUk 11.2 km/s–1 gS rks i`Foh ds okrkoj.k ds izHkko dks Ukx.; ekUkrs gq;s bl {kqnzxzg dh

i`Foh dh lrg ls Vdjkrs le; xfr fdrUkh gksxh   ?

viUkk mRrj kms–1 esa fudVre iw.kkZad esa nsa

A. 16

Question ID : 4050361715

Sol.


